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WILHELM  STEINITZ  (Part IV)

The first official World Championship match was played in USA between Steinitz and Zukertort, the winner being the first to win 10 games.  Steinitz had fallen out with the chess community in England and moved to America in 1883.  Johann Hermann Zukertort (1842-1888) was Anderssen’s most talented pupil and played at least a thousand games with him.  He gave up a medical practice to devote himself to chess. Here is the conclusion of his famous game with Blackburne in London 1883. Many readers will be familiar with Zukertort’s amazing twelve move combination begun 4 moves prior to the diagram.  With his queen and bishop forked Zukertort unleashes an absolutely brilliant sacrificial attack:
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After winning the first game Steinitz lost the next four but recovered to 3.5-4.5. The 9th game was clearly of great importance to the outcome of the match: 



J.  ZUKERTORT   -   W.  STEINITZ



World Championship 1886, St Louis



Queens Gambit Accepted



 1    d4 
d5 


 2    c4  
e6



 3    Nc3 
Nf6 


 4    Nf3  
dxc



 5    e3  
c5


 6    Bxc4 
cxd



 7    exd(a) 
Be7 


 8    0-0  
0-0



 9    Qe2  
Nbd7


10   Bb3 
Nb6



11   Bf4(b)
Nbd5 


12   Bg3 
Qa5



13   Rac1 
Bd7 


14   Ne5 
Rfd8



15   Qf3
Be8(c)  

16   Bh4!(d) 
Nxc3(e)



17   bxc3 
Qc7 


18   Rfe1 
Rac8



19   Qd3
Nd5! 


20   Bxe7 
Qxe7



21   Bxd5(f) 
Rxd5


22   c4  
Rdd8



23   Re3 
Qd6 


24   Rd1 
f6(g)



25   Rh3 
h6(h)


26   Ng4
Qf4



27   Ne3(i) 
Ba4(j) 


28   Rf3
Qd6



29   Rd2 
Bc6(k) 

30   Rg3(l) 
f5



31   Rg6 
Be4 


32   Qb3 
Kh7



33   c5 

Rxc5 


34   Rxe6 
Rc1+



35   Nd1(m) 
Qf4 


36   Qb2 
Rb1 



37   Qc3 
Rc8 


38   Rxe4 
Qxe4



White resigns(n) 

  a)  Steinitz firmly believed the isolated pawn on the half open file in the centre was a weakness.

  b)  g5 is the right place for the bishop where it joins in the fight for control of d5.

  c)  Seemingly passive, the bishop defends f7 and does not interfere with Black’s other pieces.

  d)  White realizes the need to place the bishop on the h4-d8 diagonal.

  e)  Almost forced: 16…Rac8  17 Nxd5, Nxd5 (17…exd5  18 Ng4, Rxc1  19 Rxc1, Rc8  20    Rd1!) 18 Bxe7, Nxe7       

  19 Qxb7.

  f)  Too good a bishop to give up.  Better was  21 c4 or Bc2. 
  g)  Now White has parted with his bishop, Black’s can become active.

h)  Wisely refraining from allowing White an attack with 25…fxe5  26 Qxh7+.

i)  From now on White has back row problems: 27 Rg3, b5! 28 cxb, Rxd4!  29 Nxh6+, Kf8  30 Qa3+, Qd6.

j)  Forcing the rook from the back rank.

k)  Better was 29…b5!  White loses after 30 cxb, Rc1+  31 Nf1 (31 Nd1, Qxd4!!  32 Qxd4, Rxd4  33 Rxd4, Bxd1) 31…Qb4.  Best is 30 Qg6, Qe7  31 Rh3, Qf7 but the chances lie with Black.

l)  30 d5! was best but Black remains on top with 30 Qe5!

m)  35 Nf1, Qc7 or 35…Qf4  36 Qe3, Qc7! holds out longer.

n)  After this defeat Zukertort could win only one more game, losing the match +5, =5, -10.

SOLUTION:  1 Qb4!!! Now if 1…Qxb4  2 Bxe5+, Kxh7  3 Rh3+, Kg6  4 Rg3+, Kh6 (or 4…Kh7  5 Rf7+) 5 Rf6+, Kh5  6 Rf5+, Kh6  7 Bf4+, Kh7  8 Rh5#:  if 1…Qe8  2 Rf8+!!  Black played 1…R8c5 allowing Zukertort to unleash another thunderbolt 2 Rf8+!! Kxh7 (2…Qxf8  3 Bxe5+ mates quickly) 3 Qxe4+, Kg7  4 Bxe5+! Kxf8  5 Bg7+! Kg8 (5…Qxg7  33 Qe8#) 6 Qxe7, resigns    

